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General Instructions:
1. This Question Paper has 4 Sections A, B, C and D.
2. Section A has 5 MCQs carrying 1 mark each
3. Section B has 2 questions carrying 02 marks each.
4. Section C has 2 questions carrying 03 marks each.
5. Section D has 2 questions carrying 05 marks each.
6. All Questions are compulsory.
SECTION A
1. If sin 2B = 2 sin B is true when B is equal to 1
(a) 90°
(b) 60°
(c) 30°
(d) 0°
2. 5tan2 A-5sec?A +1is equal to 1
(a)6
(6)-5
(c)1
(d) -4
3. What is the minimum value of cos 6, 0 £ 0 £90° 1
(a)-1
(b) 0
(c)1
(d) 1/2
4, If in AABC, £C =90°, thensin (A+B) = 1
(a)o
(b) 1/2
(c) 1/v2
(d) 1
5. If sin A —cos A =0, then the value of sin® A + cos* A is 1
(a) 2
(b) 1



10.

11.

(c)3/4
(d) %%
SECTION B
Iftana=v3 and tan B = 1/v3,0 < a, B < 90°, find the value of cot (a + B).

If © = 45°, then what is the value of 2 sec?0 + 3 cosec?0 ?

SECTION C
Prove that
sin® - 2sin’6

3 —— =tanf
2co0s”0 —cosO

Iftan (A +B)=v3andtan (A-B)=1/v3;0°<A +B<90°%A >B, find A and B.

SECTION D
Prove that:

tan 0 cott
1-cot6 1-tan6

Find value of:

=1 + sec 0 cosec 0

sin 30° + tan 45° - cosec 6(°
sec 30° + cos 60° + cot 45°




